2009

2009

1 8 4 32
3
xX—x
(x)==
sinzx
1 B 2 C 3 D [
f(x)
f(x) sinzx=0 x=0,+1 +2,43,---.
f(x)
sinzx=0 x—x>=0 x=0,%1.
3 3
. ) - 1 . . — 1
lim f(x)=lim Atk ==, lim f(x)=lim T =
x—0" =0 SINzTx 7 x—>0" =0"SINzZx 7«
3 2
. ) - . 1-3 2
|Imf(x):|lmx_ oo im—E
x—1” -1 SIN T x U T COSTx 7T
3 2
. ) - . 1-3 2
|Imf(x):|lmx_ T gim—2 22
xo1t -1 SIN Tx U T COSTXx T
3 2
. . - . 1-3 2
lim f(x)= lim Y =
&0 x>-1"SIN 71x x>-1 7COSTTX T
3 2
) . - . 1-3 2
lim f(x)= lim N [T [ S
x>—1t x=>-1"SIN 7T Xx 1" 7T COSTXx T
lim /' (x)=lim f(x), lim f(x): lim /(x), lim f(x)= lim f(x)
x—0" x—0" x—1 x—1" x—>-1" x—-1"
3 C
X=X f(x) f(x) = £, (x) # f(x)
X =X, f(x)
1 4 5 2009
1 1 1.39 3 4



2009

10 660 128 131 .

16

a=1b=—— B a=1,b=1
6 6
a:—l,b:—1 D a=—1,b=1
6 6
IimM_l a,b
x—0 g(X)
x—0 f(x):x—sinax:x—(a —%(ax)3+0(x3)j
=(1—a)x+£(ax)3—o(x3)
3! '
g(x) =x° In(l—bx) —bx*.
f(x):x—sinax g(x):len(l—bx)
f(x) (1—a)x+£l(ax)3—0(x3)
1=lim—==L = lim 3L —1-a=0h=——
x—0 g(x) x—0 _bx
a=1,b=—l A
6
1 lim f(x) _lim x—Sinsax _ "ml—acoszax
x—0 g(x) x—0 —bx x—0 —3bx
. 2\ . B B B
LI_T)Tg(—3bx )—0 le(l acosax)=0=a=1.
1,
_1-cosx . 27 1
=1lim —=lim s =>b=——.
x>0 —3bx x>0 —3px 6
2009 1 1 1.36
8 81 1 660 1.11 1.20 .
Lx%t>|nx X



2009

A (01) B (L j c (E; j (77, +0) [

xSin¢ x1 smt 11— smt
J, = de>Inx 2 - [ o= [ 0= [
jwdt>|nx
smt xSing— 1 11-sint
M j ) (= [0
1- jmt>0 O<x<1 A .
f(x)>0 xelabl(b>a) [ ()20
5 85 1
1 3 3.62 660 1.166 .

v=/(x)  [13

Jo £ (e
Fir) & Fix) &
L
N R B2
S RSVERE ; -1 /2 3 ;
_ N




2009

|

-lal 1203 ; -1_1_1'23 ;
D
[ ]
y=r(x) F(x)=[]f (g
1 (-10) f(x)=0  F(x) A
Ift)dt yzf(x)x O,x=x «x X
X O<x<l1
x)= [ f(e)e<0 o
3 2<x<3  f(x)=0 lim £ (x) = lim [ f (et = F (2)
lim F (x) = lim [ f (e)dr = jft)dt+||mjft)dt F(2)
F(x) x=2 B D .
6 3 2009
1 4
B 2 A* B¥* A B |[4|=2 |B|=3
0 4
B O
0O 3B* 0O 2B*
24* O 34* 0O

3A4*
2B* O




2009

0 4
AA* = A* A=|A|E [ j

B 0
0 A0 A\ |0 4
(B OJ{B 0] :‘B o| F+ ~HIBIE..

0 A\( 0 3B%\ (24E o0 \ ([4E o0
B 0)\24* o0 ) ( 0 3BE) | o |[B[E

O A\ (0 2B*\ (34E 0O
B 0)\34* 0 )| 0 2BE

_(l4[BlE 0 4|5 E 0
O  |A||B|E 0 E

|| B

AA*=|A|E.
0o 4o A‘l_| 18 © B
B o\B 0) A 0

( o |4|BB*) ( 0 |4B) (0 2B
\Bll4lat o ) (|Bl4T o0 | \34 o

660 2.18 .

w
~
%,
~
~
Y
N
~
Il
o o
o - o
N O o



2009

o O

o N O

— O O

o O

o <« O

N O O

(al,az,as)CzPC

Q=(a1+a2,a2,a3)

o O -
O € O

— < O

1
o O -

o «+H O

- < O

(al'az’“s){

Q=(a1+a2,a2,a3)

o O A
o O «
o «+H O
o « O
— 1 O
Ne— e - O
e o AN S
o O N T
o O «
O 1 O
o «+H O
— O O
N~ ~ = O O
N——
o O «l o O o O «
o 1 O - «—« O - 1 O
— 1 O «— O O N 1 O

o O

o « O

— < O

- o O N
- - O
- o o
N
5D o © o«
O 4o © « o
- o o <~ o
o o«
- - O
- O o
002/|\
°©-° Sow
J Q9 440
O o d 4 o o
11_0/|\
— o o



2009

H
o B k.
N O O

2 12 2009
2 2 219 .
B
A P(4B)=0 B P(4B)=P(A)P(B)
c P(4)=1-P(B) D P(4UB)=1 [ ]
y B P(4B)=0
P(4B)=0= P(4B)=1  P(4UB)=1 D
A B A A B B
A B c A B D
2009 3 1 19 .
1 5
X Y X N(01) Y
P{Y=O}=P{Y=l}=% F,(z) Z =Xy E,(z)
A 0 B 1 cC 2 D 3 [ ]
F,(2)

FZ(Z)zP{Z<Z}:P{XY<Z}
— P{XY<z|Y =0l P{Y =0}+ P{XY <z|Y =1} P{Y =1}
—SPlo<z}+ZP{x <z}
2<0 FZ(Z)=%P{X<Z}=%@X(Z)
1

220 R (2) =y o PX <} =220 (2).



2009

ILTF( z)== ILTF( z)=1 z=0 F,(z) B
0<P(B)<1 A, B < P(A|B)=P(A).
3 6 2009
3 2 2.44 2 11
660 3.57,3.59
9 14 4 24
. e_eCOSx
9 lim———-=
x—0 3/1_+_x2 _1
“9 9
0
1,
i (l e ) e(COSx—l) ellmax 3e
x—0 3/1+x 1 r»O 3/1+x 1 an lxz x—0 ; 2
x—0 1-cosx g N x,(1+x)m -1 mx.
1 17 2009
1 1 1.22 81 2 660 1.13 .
x Oz
— y y A -
10 Z_(x+e ) O wo) =
aZ . xln(x+ey) v X _ 1 _
e =€ [In(ere )+x+ey} o) _2[In 2+EJ_2In 2+1.
9 6
1 6 6.6
© en _ _l n
11 Z#x”
n=1 n




2009

en _(_1)"
o0 el’l _(_1))1 ) ' nz |
> p=lim—=lim —=¢
) n n—w g n—»o e’1+1 _ (_1
(n +1)2
Zan(x—xo)” lim 222 =p
n=1 n—>0 |an|
l, 0< p<+4o0
yo)
R =4 +00, ,0 = O
O) p = 400
11 12
1 8 8.14 660 1.378
12 0=0(p) p g,=02 10000
L=0p L'=0p+0.
Op , :
SPZ_E:O.Z Qp:—OZQ L :OSQ
L 0-10000 — O'SQ‘Q:NOOO =8000 8000
Op
0 p £, =—=—.
0
1 11 11.2
660 1.378
300
13 a=(111),=(L0k)". aff’ 00 0| k=
0 0O
tr(4) Bla
ap’



2009

ﬁTa aﬁT
300 300
aff’ 000 tr(ap”)=tr{0 0 0|=3
000 000
3=pTa=1+k k=2
n A r(A)zl A
AE—d|= _[iaﬁjz .
i=1
A zl=iaﬁ,/12:-~=/1n=o r(ap’)=1
=1
ap’ 3 Bla :iaﬁ = k=2
i=1l
5 3 2009
2 5 5.4 81 5
14 X, X, X, B(n,p) X s

NE ¥ N ET =

EX =np ESzznp(l—p).
ET=E()?—S2)=E)?—ES2 :np—np(l—p)znpz.

X (Xl"”’Xn)

EX =y, DX =0°

EX=u ES'=o" SZ=LH(X -X) .

2009 3 5 51
660 3.118 3.122 .

5.2



2009

15 23 94
15 ( 9 )

f(x,y)=x2(2+y2)+y|ny

T =2x(24))=0 (01]
8f 2x°y+Iny+1=0 e)
y
A_62f_2(2+ Z)B_ 2f_4x C—azf—2x2+—
St yrs X0y 2 o y
(B*-4C) o {mx 2(2+y2)[2x2+—ﬂ o3 :—2e(2+e—2]<o
A4>0.

9 14 2009
1 6 6.22 660 1.272 1.273
16 ( 10 )
1+x
jln(1+ —]dx(x>0)
X
1+x
-y
X

o?
o105 de fingoryo )L Ly,

1 12
Torl :_IL 1 1+l (141) }dt

:%m@—g—%m@+g+

[

+C.

2(t+1)



2009

In(1+¢) 1, t+1 1

J'In 1+ 1+x dx = > + +
-1 4 -1 2(t+1)

X

lyx ) 1 Jx
:xln[1+ T]+§In(\/1+x+f) r T+x+\/7
1rx) 1 1 1 >
:Xln(l-‘r —]+—|n(\/1+x+\/;)——x——\/x+x +C.
X 2 2 2
3 9 2009
1 3 3.15
17 ( 10 )
[[(x=y)dxdy D={(x»)I(x=1)"+(y-1) <2,y2x].
1 D 4
3r /1;’

0< p<2(sin@+cosd), Z<9<T'

ik

J.J.(x - y) dxdy

3z sin 6+cos
:jﬂ‘* dejoz( ’ H)p(cose—sine)dp

3z

=3l 4 (cos@+sind)’d(cosd+sin o) 4
3z f/l;r’ (2.2)
2(cos¢9+sm6’) 4= —§, QE :

7 3 . .
1-4Z =

2

D D, D, 2

D, :{(x,y)|1—1/2—(x—l)2 SyS1+w/2—(x—1)2,1—\/§SxSO}
D, :{(x,y)|xSyS1+w/2—(x—l)2,0SxS2}

12—



2009

[[ (x=y)dxdy = [[ (x—y)dxdly+ [[ (x - y) dxdy .

D
fl=r)a = [} o], =)
- Iﬁﬁz(x_l)mdx
2 2

o [

J;I(x—y)dxdy = Iozdx£+m(x—y)dy
:_%J:[Z—Z(x—l)w/Z—(x—l)z}dx
33l

2 8
,g(x_y)dXdy:—g—2=—§.
2009 1 7 75
660 1.299 .
18 11
f(x) [a,b] (a,b)



2009

Jlrg\f() t—0 0" Jlrg\f(f):
/. (0) £(0)=4
16) = S(b) - f(a) R - S)-f(a)

b-a b-a

:>f(X)+C=f(b)_f(a)X
b—a

:f(x)——f(b;_f(a)x+C=0
—a

C=0 F(x)zf(x)—%x

F(a)=r(p)= 1))
4 8 2009
1 4 438 660 1.63 .
19 ( 10 )
y=f(x) f(x) f(x)>0

y=0,x=1 x:t(t>1) X

—14—



2009

Tt

ﬂ_[:fz (x)dx = mjltf(x)dx t
0= [ 1 (x)deref (1)
r=1 f()=1 f(1)=0

2f(0) f'(r)=21(t)+1"(¢).

iy 3
3 3
1 2 1
t=ly=1 C=>  1=Syp+——_.
Y 3 3773y
K ¥”
1 y=f1(x),y=1>(x) x=a,x=b(a<D)

S=[1A@=f@ldr . [ab]  f(x)< ()
S:Ij[fz(x)—fl(x)]dx :

2 yv=f(x) x=a,x=b(a<b) «x
X V. = ﬂjjfz (x)dx
y V,= 271']? xf (x)dx .

6 81 3 2009

1 5 5.35 660 1.200 1.202 1.206 .

20 1 )



2009

1 -1 -1 -1
A=|-1 1 1|¢&=|1
0 -4 -2 2
Aé:z = 51 A2§3 = é:l 52 ) 53

€€ €166,
A—
A, x=b < r(d)=r(A) A=(A4|b)
IS AT

1 -1 -1]-1 1 -1 -1]-1 1 1 olo
A=|-1 1 1|1 |=]/0 0 0|0 |—>|0 2 1,2
0 -4 -2|-2 0 -4 -2|-2 0 0 00

r(A)zr(A)zZ X,

X, =—2x,+1 x =-x,.

—X, -1) (0
= x =k| 1 |+|0 x, =k
—2xgdl -2 1

1 -1 -1)y(1 -1 -1 2 2 0
B=A’=-1 1 1]-1 1 1
O 4 -2)\0 4 -2 4 4 0

Il

|
N

|
N
o

2 2 0]-1 11 07
B=|-2 -2 0|1 |=|0 0 0/|0
4 4 0]-2 0 0 0/0

r(B)zr(E):l Xy, X; X = xz—%
1 1 1
Y -1 0) | T2 -1 0y | 2

&= x, |=x| 1 |+x]0|+| 0 |=k,| 1 |[+k|O0|+]| O
X, 0 1 0 0 1 0

— 16—



2009

1
1
-1k —kz—% L ke
1
SHAEI! k k, |=|0 0 -3
w2 2kl k| g g g2k 4+
SHIAS
2 A& =0. ke, ky. ke,
k& + k&l =0
A
L AE, + Il AE, +k,AE, =0 K AE, +k,AE, =0
ky&, + k,AE, = 0.
A
b, AE, + ke A%E, =0 k& =0 ky =0
k2=0. k2:k3:O k]_:O 51!52!53
2009 2 4
660 2.37
21 ( 1 )

f(xl,xz,x3) = ax} +ax} +(a —1)x§ +2X,%, — 2X,X,

S
f yty, a
f |AE—-A|=0
f ity 2 A

:1¢0
2

k& =0

4.7



2009

f
a 0 1
A=10 a -1
1 -1 a-1
A—a 0 -1 A—-a A-a 0
AE-A4=| 0 A-a 1 |=| 0 A-a 1
-1 1 A—a+ -1 1 A—a+1
1 1 0 1 1 0
=(/1—a) 0 A-a 1 :(/’t—a)O A—a 1
-1 1 A—a+ 0 2 A—a+

(A-a)[(A-a)(A-a+1)-2]

(/”L—a)[/lz —(Za—l)/”t-i-a2 —a—ZJ

(/I—a)(ﬂ—a+2)(/1—a—1).
f Y| A=a,A,=a-2,,=a+1.
f yty, 2. f A

>4 >4, A=a-2=0 a=2.

f(xl,xz,n-,xn)zzn:iayx,.xj =X"A4X,

=1 j=1

itk y, =y ==yl (p<r<n)
p A 0 r
r—-p A 0
6 1 2 2009
2 6 6.9 6.10 660 2.90 294 .
2 1 )
(x.7)

f(x,y)={eox' eyex



2009

P{X <1y <1}
f(x)
Sox (]x)=
YlX( ) fX(x)
P{X£1|Y§1}—P{XS1'Y<1}
P{Y <1}
X
+o0 x Xdy X>O xe x’ x>0
Fo(®)=[7 1 (xy)dy { o {0’ 7
x>0 Y
fox (1) f(x,) E, O<y<x
ylx)= ={x
Ylx fX(x) 1
Y
400 +o0 e_xdx’ S 0 e—y’ . O
fy(J’)ZLOf(X,y)dx: L Y :{ y>0
0, ygo O, ySO
1 1 1 .
,y)dxd dx| e*d B
pix <1y <1y - TAXSLTSY =ijw{(x y)ddy [ xLe_l ) oo
P{YS].} .[e*ydy 1—e e_1
0
3 3 2009
3 2 2.37 2.38 660 3.71
3.72 373 .
23 ( 1 )
1 2 3
XY, Z
P{X =1|Z =0}
(x.7)
P{X:1|Z=o}:P{X:1’Z:O}




2009

62
P{X=1,2=0 2G%.2 4
P{X=1|Z=0}= =12-0} 6 _6_2
P{Z =0} GG 9
62
XY 01,2
1 1 1 1
Plx=0y-0-SS_3 piy_oy-y-22 S 12
6° 36 6 36
1 1 1 1
P{X:O,Yzz}zcz'zcz_i P{le,Y:O}:ZCl—Z'Q:E
6> 36 6 36
1 1
P{X:l,Y:l}:ZCIZ'CZ:% P{X=1Y=2}=0
1 1
P{X:Z,Y:O}:Clézcl_% P{X=2Y=1=0P{X=2Y=2}=0.
f(x)
0 1 2
0 L 1 1
4 3 9
1 = 2 0
6 9
1
2 - 0 0
36
ARBEMEFF Y
P
EFFMH o
660  3.45
1 7 2009

3 2 2.31 2.36




